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Instructions for the Candidates

Winte your Hall Ticket Mumber in the space provided on the top
of this page.
This paper consists of seventy five multiple-choice type of
questions.
At the commancement of examination, the question booklat will
e given toyou. In the first & minutes, you are requested to opean
the booklet and compulsorily examine it as balow

(i1 Tohave access to the Queastion Booklet, tear off the papar
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra timéwill be given.
After this verificalion is over, the Test Booklet Mumber
should be entered in the OMR Sheet and the OMR Sheat
MNurnber should be entered on this Test Booklet.
Each item has four alternative responsegsmarked (A), (B), (C)
and (D). You have to darken thecircleasindicated below on the
correct response against each item.

Example: @ . @

where (C) is the correct regponsa,

Your responses to the itefs arete be indicated in the OMR Sheet
given to you. If you markat any place other than in thecircle in
the Answer Shest, it wiltnot be evaluated.

Read instructions given inside carefully.

Rough Work is (o be dofe in the end of this booklet.

If you write yaurname or put any mark on any part of the OMBR
Answer Sheet, exceapt for the space allotted for the relevant
entries, whichimay discloss youridentity, you will render yourself
liable to disgualification.

You have to return the test question booklet and OMR Answer
Sheet tathe magilators at the end of the examination compulsorily
andmust not carry it with you outside the Examination Hall,
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.
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PUBLIC ADMINISTRATION
BB
Paper - il
w56 -

1. Which one of the following is not the
characteristic of the ‘ideal type’
bureaucracy as propounded by Max
Weber ?

(A) Officials are organized in a hierarchy
of office

(B) Legal authority
(C) Merit based selection

(D) Administration function on personal
obligation

2. Who provided the following
perspectives of public in Public
Administration ?

Public as interest group
Public as rational chooser
Public as represented
Public as customer

5. Public as citizen
(A) Ferrel Heady
(B) Gabler
(C) Simon H
(D) George Fredrickson

N

3. Which one of the following is not true of
Estimates Committee ?

(A) To serutinize the estimates

(B) All members are drawn from Lok
Sabha

(€). Comptroller and Auditor General of
India provides expert assistance

(D) It suggests the form in which the
estimates are to be presented
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4. “Indicative Planning” refers to
1. Broad directions for development
2. Long-term goals in specific areas
3. Planning of the Public Sector
(A) 1,2,3 (B) 2and 3
(C) 1and 2 (D) 1and 3

5. Judicial control over administration is

exercised by

1. Writs

2. Adjudication

3. Judicial review

4. Public Interest Litigation

(A) 1,2and 3 (B) 1,2and 4
(C) 2,3,4 (D) 1,3and 4

6. A : District Collectors are the Principal
Census Officers in their respective
district.

R: Census is a subject in the Union
List of the Seventh Schedule of the
Constitution of India;

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true but R is not
the correct explanation of A

(C) Ais true butRis false
(D) A is false but R is true

7. The Presidentof India is elected by an
electoral eollege comprising of
(A) Members of Parliament

(B) Elected Members of Parliament and
Members of State Legislative Assembly

(C) Members of Lok Sabha and Members
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8. International Development Decade for
Women is
(A) 1975—-1985
(B) 1991 — 2001
(C) 1980 - 1990
(D) 2003 - 2013

9. The New Public Management gives
emphasis to
1. Voucher System
2. Elimination of State
3. Public-Private Partnership
4. User Charges
(A) 2,3, 4
(B) 1,2,3
(C) 1,3,4
(D) 1,2, 4

10. Which of the following ideas was
advanced by Marry Parker Follett ?
(A) Deconstructive conflict
(B) Organizational design
(C) Constructive conflict
(D) Unity of command

11. Motivation theory is not synonymous
with behavioural theory. The motivation
are only one class of determinants of
behaviour. While behaviour is almost
motivated, it'is almost biologically,
culturally and“situationally determined
as well”.

Identify. the author of the above
statement.

(A) Likert R

(B) Chris Argyris

(C) Abraham Maslow

(D) Kautilya
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12. Match the following list :
Listl Listll

A. Paul Appleby 1. Administrative State :
A Study of the Political
Theory of American
Public Administration

B. Herbert Simon 2. Science of Public
Administration : Three
Problems

C. Robert Dahl 3. Big Democracy

D. Dwigeil Waldo 4. Administrative

Behaviour
A B C D
A) 3 4 2 1
B 1 3 2 4
) 4 1 3 2
Do 2 4 1 3

13. “That they (the village) have survived
through all vicissitudes may be a fact.
But mere survival has no value. The
question is on what plane«they have
survived. Surely on a low, selfish.level.
| hold that these village republics have
been the ruination of India. | am
therefore, surprised that those who
condemn provincialism and
communalism sheuld come forward as
champions of the village. What is the
village, but a Stink of localism, a den of
ignorance, narrow mindedness and
communalism ? 1'am glad that Draft
Constitution has discarded the village
and adopted the individual as its units”.
Who amongst the following made this
statement during the debates of the

Constituent Assembly ?
(A). Dr. Radhakrishnan
(B). Dr. B. R. Ambedkar
(C) Balwantrai Mehta
(D) Mahatma Gandhi
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14. A: The entire administrative
machinery comes under the
potential control of the legislature.

R : This is because every action may
provoke a question, every
question an adjournment debate
and every adjournment debate a
full-dress debate.

(A) A and R true and R is the correct
explanation of A

(B) Both A and R true but R is not the
correct explanation of A

(C) Aistrue, Ris false

(D) Ais false, R is true

15. Which of the following characteristic
explain Communication Network ?

1. The amount of organization space
covered by types of organization

2. Direction of information flow

3. Reaction to transmission of
information which can provide
feedback to the transmitter

4. Proper coding of information

(A) 1,2 (B) 1,8
(C) 4 (D)8

16. A : The participatory decision-making
model associated with the New
Public Administration is not related
to the traditional concept of
representative bureaucracy.

R : Co-operative approach to solving
problems can be associated with
security, openness, private
expectation, positive orientation
towards others and ability of reach
compromise decision.

(A). Aand R true and R follows A
(B) A and R true, but R doesn't follow A
(C) Atrue, Rfalse

(D) Afalse, R true
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17. The main justification for the institution
of local government is

(A) Its administrative convenience
(B) An outcome of decentralization
(C) As a base for democracy

(D) Its historic existence

18. Modern local government differs from
ancient local government in its

1. Representative character

2. Elective nature

3. Legal position

4. Popular demand for creation
(A) 1

(B) 1,2
(C) 1,2,3
(D) 1,2,3,4

19. The central idea of subsidiarity is'that,
citizens

1. get subsidy
2. as customers
3. as stake holder
4. as sovereign
(A) 1,3
(B) 2,4
(C) 1,4
(D) 3,4

20. Organization is
(A) Group.of People
(B)«lnterpersonal Relations
(C) Informal interaction

(D) Structure of authoritative and
habitual planned interaction in an
administrative system
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21. Match List | with List 1l
Listl Listll
A. Commission 1. Vijay Kelkur
on Centre-State 2. R.S. Sarkaria

Relations
B. Committeeon 3. M.N. Venkatachaliah
Civil Service

Reforms
C.13" Finance 4. P.C. Hota
Commission

A B C

A) 2 1 3

B) 2 4 1

(C) 3 4 1

D)y 3 1 4

22. Public Policy is one sphere of social
action affecting other sphere of social
action is called

(A) Externalities  (B) Black box
(C) Out-come (D) Inegrementalism

23. Which President of United States of
America introduced the system of
Performance Budgeting ?

(A) Truman

(B) John F. Kennedy
(C) Jimmy Carter
(D) Bill Clinton

24. “It is a formal process of policy review
for eliminating the undesired, outdated,
redundantand irrelevant programmes”.
This principle is followed by which
budgeting system 7

(A). Sunset Legislation

(B). Programme Budgeting

(C) Zero-based Budgeting

(D) Performance Budgeting
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25.

26.

27.

28.

When was the Central Social Welfare
Board was setup ?
(A) August, 1953
(B) January, 1953
(C) August, 1954
(D) October, 1953

Who of the following administrative
thinker was the main advocate of
juridical approach ?

(A) Frank Goodnow

(B) L.D. White

(C) W.F. Willoughby

(D) Luther Gullick

Two factor theory was propounded by
(A) Maslow A.

(B) Fredrick Herzberg

(C) R.Likert

(D) Douglas McGregor

Which of the following provisions are
correct about Indian Ceuncils. Act of
1861 ?

1. It initiated thes process of
decentralization by restoring the
legislative powers to the Bombay
and Madras Presidencies.

2. It accorded the statutory recognition
to the portfolio system.

3. Itempowered the Governor-General
to frame rules for more convenient
transaction of business in the Council.

4. |t established Supreme Court at
Caleutta as the Highest Court.
(A).1,2,3
(B).1,2,3,4

(C) 2,3,4
(D) 3and 4
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29. Match list | with List Il and select the
correct answer by using the codes given
below the lists

Listl Listll
A. Dual Budget 1. India
B. Single Budget 2. Britain
C. Cash Budget 3. USA
D. Revenue Budget 4. France
Codes :
A B C D
A 1 2 3 4
B 4 3 2 1
c 3 1 4 2
oy 3 4 2 1

30. In Budget, “Guillotine” is applied to
those demands that are
(A) discussed and approved
(B) discussed but not approved
(C) not discussed for want of time
(D) none of the above

31. Which of the following category of
employees do not ¢come under the
purview of Central Administrative
Tribunal ?

1. All India Services
2. Secretariat Staff of the Parliament
3. Secretariat Staff of the Supreme
Court
4. Staff of Central Secretariat
(Ay 1 and 4
(B) 2and 3
(C)1,2,4
(D) 2,3,4
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32. Match the following :

List A ListB
A. Science of 1. C.l. Bernard
Muddling Through 2. Y. Dror
B. Mixed Scanning : 3. H. A. Simon
A Third Approach to 4. Charles
Decision Making Lindbloom
C. Functions of the 5. Amiti Etzoini
Executive
D. Models of Man
A B C D
(A) 1 2 3 4
B) 4 5 1 3
c 2 1 4 3
(D) 4 3 s 1

33. The characteristics of Administration
are best described as
(A) Span of control
(B) Organization and management
(C) Planning
(D) Finance

34. A: Thedevelopment of administrative
law in a Welfare State has made
administrative__tribunals a
necessity.

: Central Administrative Tribunal
(CAT) was established to provide
speedy and inexpensive justice to
CentralGovernment employees.

(A) Both'A and R are true and R is the

correct explanation of A

(B) Both A and R are true and R is not
the correct explanation of A

(C) Alistrue but R is false
(D) Ais false but R is true
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35. “Development Administration has not
only survived the limitation of its
founders, but it has successfully adapted
to a much more realistic set of
expectations about the process of
development and the potentialities of
the public sector”. Identify the author
who stated as above.

(A) George Fredrickson
(B) F. W. Riggs

(C) David Easton

(D) Milton Esman

36. Gerrymandering is associated with the
following country
(A) U.S.A.
(B) China
(C) Japan
(D) Norway

37. By which Amendment to the Constitution
were fundamental duties added ?
(A) 41%' Amendment
B) 42" Amendment
(B)
C) 43" Amendment
(C)
D) 44" Amendment
(D)

38. A cognitive approach to Motivation
focus on

(A) Psychological aspect of human

behaviour

(B) Impulsive aspect of human

behaviour

(€). Influence of rational values on

human behaviour

(D) Influence of environment on human

behaviour
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39. “The debt is in the form of promises
made by the treasury to pay to the
holders of these promises a principle
sum and in most cases interest on that
principle”. This statement is made by

(A) Philip E. Taylor
(B) J. K. Mehta
(C) R. Musgrave and P. Musgrave

(D) Appleby

40. Public choice is concerned with ‘pareto

optimality’ a concept originally
developed by economist

(A) Vilfredo Pareto

(B) Adam Smith

(C) William Pareto

(D) Karl Popper

41. A remedy or proceeding whereby a

superior court inquire into the legality of
the claim, which a party asserts ta office,
called

(A) Habeus corpus
(B) Quo-Warranto
(C) Mandamus
(D) Certiorari

42. The 73" Constitutional Amendment

added a new Schedule to the Indian
Constitution. Identify the Schedule

(A). 121

B)- 11"

) 10"

(D) 14"
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43. Who among the followings was not the
member of Drafting Committee of the
Indian Constitution ?

(A) Dr. Rajendra Prasad

(B) Dr. Bhimrao Ambedkar

(C) Shri K.M. Munshi

(D) Shri Gopalswamy Ayyangar

44. The office of the Vice-President of
U.S.A. has been described as ‘His
superfluous Highness”. Who amongst
the below mentioned described this ?

(A) Abraham Lincoln
(B) John Adams

(C) Benjamin Franklin
(D) Al Gore

45. “We have the British Constitution, but
nobody knows what it is, it is not written
down anywhere, and you can:no more
amend it, then you can amend the East
wind. But in the U.S.A. you have a real
tangible, readable document. l'gan nail
you down to every one of its sentences.”

Who made the above statement ?
(A) Balzac
(B) George Bernard Shaw
(C) Shakespeare
(D) De Tocquevile

46. Which of the following papers have not
been written by F.W. Taylor ?

(A) Art of Cutting Metals

(B) Piece-Rate System

(C) Principles of Scientific Management
(D) Public Administration : Art or Science
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47. Arrange the following stages in the
evolution of Public Administration in
their ascending order of their
development

1. Classical Principles Approach
2. New Public Management
3. Public Policy Approach
4. New Public Administration
(A) 1,8,4,2
(B) 1,4,3,2
(C) 1,3,2,4
(D) 1,4,2,3

48. According to Yehezkel Dror, “Meta

Policy” refers to

(A) Study of futures

(B) Master Policy

(C) Study of Political feasibility

(D) Policy on “Policy making system”

49, |dentify the chronological sequence in

which the following institutions were
established ?

1. Life Insurance Carporation of India
2. Committeé on Public Undertakings
3. Damodar Valley Corporation
4. Nationalization of Banks

(A) 3,1,2,4 (B) 3,2,4,1

(C) 1,2,3, 4 (D) 1,3,4,2

50. The theoretical framework of research
examines the interrelationships among

(A). Variables
(B) Hypothesis
(C) Concepts
(D) Theories
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51. The basis of Scientific Social Research is
(A) To test and prove hypothesis
(B) To disprove hypothesis

(C) To formulate research problem, test
hypothesis in controlled situations
and challenge them

(D) All the above

52. |dentify the chronological sequence in
the appointments of the following
Committees.

1. Asoka Mehta Committee on
Panchayati Raj Institutions

2. Paul Appleby's Committee on Public
Administration

3. Balwantray Mehta Committee on
Panchayat Raj Institutions

4. Departmentally related Standing
Committees to consider the demand
for grants

(A) 2,1,3,4

(B) 2,3,1,4

(C) 3,2,1,4

(D) 3,1,2,4

53. Which one of the following/is true of “Right
to Strike” by civil servants.in India ?
(A) Prohibited by Law
(B) Strike constitutes breach of discipline

(C) Right to strike is mentioned in
Conduct/Rules

(D) All the above

54. Central Administrative Tribunal was
established in the year
(A) 1984
(B) 1985
(C) 1986
(D) 1987
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Rule of Law vindicates the
supremacy of Law.

55. A :

R : Discretionary power leads to
arbitrariness.

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true but R is not
the correct explanation of A

(C) Alistrue, but R is false
(D) Ais false, but R is true

56. InIndia Fundamental Rights that can be
enforced in a Court of Law is called

(A) Human Rights
(B) Basic Rights

(C) Justiciable Rights
(D) Civil Rights

57. Match List I with Listl
Listl
A. Herbert Simon 1.

Listll
Mega and Meta
Palicy
B. Yehezekel Dror 2. Incremental Policy
C. Charles Lindbloom 3. Bounded Rationality

4. Mixed Scanning

A B €
A 3 1 2
B) 3 2 4
© 2 @ 3
(D) 3. 45 2

58. Who among the following wrote on
“Palitics of Budgetary Process” ?

(A). J. Birkhead

(B) A. Premchand
(C) Aaron Wildavsky
(D) B.N. Gupta
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59.

60.

61.

62.

e

Under which Article of the Constitution
is the consolidated Fund of India
mentioned 7

(A) Art. 265
(B) Art. 266
(C) Art. 268
(D) Art. 270

“Summated Rating Scales" were
developed by

(A) Thurstone
(B) R. Likert
(C) Guttman
(D) P. Young

The Responsibility of preparing the
Union Budget lies with the Division in
the Department of

(A) Expenditure

(B) Revenue

(C) Economic Affairs

(D) None of the above

“A research designis the arrangement
of conditions for collection and analysis
of data in a manmner that aims to
combine relevance to research purpose
with economy in procedure”. This
statement is made by

(A)*Claire Selltiz and others

(B) P. V. Young

(C). Wilkinson and Bhandarkar

(D) B. N. Ghosh
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63. Choose the correct formula for
calculation of mode

(A) M=i+%(m—c}

m}q—-+ M4—c)
i+f-f, .
Z=—-170
© “=3% —t,-1,
(D) M=i+f] 1 (q_, —c)

64. According to which theory, leadership
has multi-dimensional characteristics ?
(A) Behavioural Theory
(B) Situational Theory
(C) Human Relations Theory
(D) Systems Theory

65. “As long as the study of Public
Administration was not comparative,
claims for a science wof Public
Administration would sound hollow”.
This statement is made by

(A) Robert Dahl «. (B) E.W. Taylor

(C) M.P.Follet _ (D).L.D. White

66. The philosophy of principles of scientific
management may be summarized as
under

1. Science, not rule of thumb
2. Harmony, not discord
3. ‘Co-operation, not individualism
4. Restricted output
(Ay*1and 2 (B) 2and 3
(C) 1,2,3 (D) 1,2,3,4
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67. The term of the President of France is
(A) 4 years
(B) 5 years
(C) 6 years
(D) 7 years

68. Who said " Power corrupts and absolute

power corrupts absolutely” ?
(A) Lord Beveridge

(B) L. D. White

(C) Lord Acton

(D) Lord Curzon

69. Which of the following is not a function

of Union Public Service Commission 2
(A) Recruitment

(B) Disciplinary Cases

(C) Promotion

(D) Classification of Services

70. “Selection from with in" refers to
(A) Selection through premotion
(B) Selection on merit
(C) Lateral entry.

(D) All the above

71. The boek Public Policy Making

Re-examined is written by
(A) Harold Lasswell
(B)»Yehezekel Dror
(C) Herbert A. Simon
(D) R. Golevnbiewski
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72. The State Finance Commission
constituted as per 74" Constitutional
Amendment relates to review principles
and financial position of

(A) Tahsil and District
(B) Municipalities and Panchayat
(C) Gram-Sabha and Corporation
(D) District and State

Read the paragraph and answer the questions
given below : (Q. No. 73 to 75)

The rise of the Cabinet Secretariat in India
since Independence is an indicator of the
growing centralization of policy and
decisional authority in the position of the Prime
Minister. The Prime Minister's Office as well
as the Cabinet Secretariat have together
acted as overall supervisory agencies over
the line organization of the Union Government.
In the name of exercising co-ordination they
have amassed influence that Iis
disproportionate to their formal status. This
trend, however, should not be viewed as
antithetical to the general sstrueture of a
Parliamentary or Cabinet Government. With
the advancement of technology, the
expansion in the scopewef government and
the creation of a multitude of governmental
and semi-governmental agencies, the role of
the Chief Executive is bound to expand and
get enhanced. In the context of this inevitable
trend, care needs to be taken to ensure that
the normal.channels of authority, viz.,
ministers and secretaries of respective
ministries and departments do not feel that
their.autharity is being eroded by any super
agency i.e. Cabinet Secretariat.
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73. The role of the Cabinet Secretariat is
(A) Co-ordination
(B) To influence other Ministries
(C) Centralization
(D) All the above

74. A : Importance of the Cabinet
Secretariat is due to expansion in
the scope of Government.

R : Advancement of Technology has
resulted in creation of governmental
agencies.

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true, but R is not
the correct explanation of A

(C) Aistrue, butR is false

(D) Ais false, but R is true

75. Which of the following istruerof Cabinet
Secretariat ?

1) Performs supervisory role over other
Ministries

2) Aims to erode the authority of other
Ministers and Secretaries

3) Its influence is proportionate to its
formal status

(A)1

(B),2

(C) 3

(D) 1,2,3
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ANSWERS KEY —PUBLIC ADMINISTRATION

PAPER-IIl (SUBJECT CODE-21)

Q.No [ KEY | Q.No | KEY | Q.No | KEY
1 D 26 A 51 C
2 B 27 B 52 B
3 8 28 A 33 B
4 C 29 A 54 B
5 D 30 C 35 B
6 B 31 B 56 &
7 B 32 B 57 A
8 A 33 B 58 C
9 & 34 A 39 B
10 C 35 D 60 B
11 C 36 A 61 C
12 A 37 B 62 A
13 B 38 D 63 C
14 A 39 A 64 B
15 B 40 A 65 A
16 A 41 B 66 C
17 C 42 B 67 B
18 D 43 A 68 C
19 D 44 C 69 D
20 D 45 B 70 A
21 B 46 D 71 B
22 A 47 A 72 B
23 A 48 D 73 A
24 A 49 A 74 A
23 A 50 A 75 A
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